e EpE xe

T2 + 32x— 15 83 — 7222 + 16x + 48
Tx—3 8x— 8

212 + 78x + 45 2053 — 52 — 30x
3x+9 S5x

63x° + 7222 + 36x 40x2 — 68x + 24

Ox 8x—4

20x% — 41x+ 20 36x° — 212 + 75x — 24
x—4 9x—3

21x3 + 3422 — 3 14x3 + 4% — 2x
3x+ 1 2x
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T2 + 32x— 15 83 — 7222 + 16x + 48
Tx—3 8x— 8
x+5 X —8x—6
21x2 + 78x + 45 20x° — 5¢ — 30x
3x+9 5x
Tx+5 4 — x— 6
63x° + 722¢ + 36x 40x2 — 68x + 24
Ox 8x—4
7X2+8x+4 5¢v— 6
20x2 — 41x+ 20 36x3 — 2122 + 75x — 24
x—4 9x—3
4x—5 4% —x+8
213 + 342 — 3 14> + 402 — 2x
3x+1 2%
7x* + 9x— 3 T+ 26— 1

www.snowmath.com



https://www.snowmath.com

